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&S R 4 ‘(.%;é) Tﬂﬁb\(i)ﬂ)ﬁﬁ%ﬁ jJ(:,)\Jtn:é)é K 4 'Fﬂﬁﬁ%«;(?n;kﬂi ‘(.é.r‘s jj(g,)\;trié K 4 ‘(.é,r‘né) J:ﬁﬁ;b\(r«‘on)o)tt?%' jj(g,)\itrié X 4 J:ﬁﬁﬁ\(?)d)tt?% ‘(.i? jj(gilzcm%)é
1 100kN/m%#8Z% | 1.00|0.00 ~ 226 135.20 |3m%B A3 -~ - - -| 100kN/mi%#8%% | 1.00 | 11.75 ~ 31.33 135.20 |3m%#BZ % -~ - -
Zh st 1.00)226 ~ 1005 100.00| ThLls 000 ~ 1005|286 14.46 Zh Lo 1.00 | 5600 ~ 11.75 100.00 | TS5 | 6,00 ~ 31.33| 2.86 14.46
2 100kN/m#%#825% | 1.00|000 ~ 277 143.79 |3m%#Z5| 000 ~ 088|338 17.08 | 100kN/mi%#B%% | 1.00 | 11.27 ~ 4231 143.79 |3m&EBAB| 42000 ~ 4231 | 3.58 17.08
Th st 1.00 277 ~ 1056 100.00 | =his | 0.88 ~ 1056 | 3.00 15.16 Fns 1.00 | 5.00 ~ 11.27 100.00 | =hdst | 5.00 ~ 40.00| 3.00 15.16
3 100kN/m%#825% | 1.00|0.00 ~ 281 144.50 |3m% A3 -~ - - -| 100kN/mi%#8%% | 1.00 | 11.17 ~ 59.99 144.50 |3m%H#BZ % -~
Th st 1.00 1 281 ~ 1060 100.00 | =his | 0.00 ~ 1060|293 14.81 Zzh st 1.00 | 5.00 ~ 11.17 100.00 | =hds | 6.00 ~ 39.99| 2.93 14.81
4 100kN/m%#8Z5% | 1.00|000 ~ 271 142.80 |3m%x#8A5| 000 ~ 086|337 17.02 | 100kN/mi%#B%% | 1.00 | 11.34 ~ 4151 142.80 |3m%E8AB|420.00 ~ 4151 | 3.37 17.02
Th st 1.00 271 ~ 1050 100.00 | =his | 0.86 ~ 1050 | 3.00 15.16 Fns 1.00 1 5.00 ~ 11.34 100.00 | =hds | 5.00 ~ 40.00| 3.00 15.16
5 100kN/m%#8Z% | 1.00|0.00 ~ 1.00 114.96 |3m%#B A3 -~ - - -| 100kN/mi%#8%% | 1.00 | 10.55 ~ 13.64 114.96 |3m%#BZ % -~
ZFh st 1.00| 100 ~ 878 100.00 | #ndst | 000 ~ 878|215 10.88 Zhst 1.00 | 56.00 ~ 1055 100.00 | Thds | 6,00 ~ 1364|215 10.88
6 100kN/m#%# 23 - -~ - -|3mEEZD -~ - - -| 100kN/ Mm%z 5 - -~ - -|3mEEZD -~
Th st 1.00 000 ~ 711 90.28 | =hs 000 ~ 000|161 8.14 Zzh st 1.00 | 5.00 ~ 9.65 90.28 | ThUs | 6.00 ~ 9.65) 1.61 8.14
” 100kN/m#%# 23 - -~ - -|3mEEZD -~ - - -| 100kN/ Mm%z 5 - -~ - -|3mEEZD -~
Th st 1.00 000 ~ 472 5883 | =ns 000 ~ 000 1.65 8.33 Thist 1.00 | 5.00 ~ 56.00 5883 | =ns | 6.00 ~ 5.00 | 1.65 8.33
100kN/m#%# 23 ~ ImEHEZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zh s ~ zhist ~ Thist ~ Thist ~
100kN/m#%# 23 ~ ImEHEZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zzh s ~ zhist ~ zhist ~ zhist ~
100kN/m#%# 23 ~ ImZEHEZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zzh s ~ zhist ~ zhist ~ Thist ~
100kN/m#%# 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zzh st ~ zhist ~ Thist ~ zhist ~
100kN/m#%# 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zzh st ~ zhist ~ Thist ~ zhist ~
100kN/m#%# 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zzh st ~ zhist ~ zhist ~ Thist ~
100kN/m#%# 23 ~ ImEHEZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zzh s ~ Thist ~ zhist ~ Thist ~
100kN/m#%# 23 ~ ImEHEZD ~ 100kN/m##8 % % ~ ImEHEZRD ~
Zzh st ~ zhist ~ Thist ~ zhist ~




